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(1) 2o AALA 77 (1/1~8/28) F F7) A4+

(2) 97 B2 2244 2 43718 %

7+ B B-1 B-2 B-3 B-4 B-5 B-6 B-7 |TOT(ton)
Hela] & (ton/hr) (A) 8 15 15 15 15 15 15
2TIAIZE (1/1~8/28) (B) 8895 1,321 11455} 15265 1,407 11115 163.5
B7|MMZ (Ton) A+ B 7116 198151 171825 22,8975 21105| 166725 24525| 107241
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24:00 ~ 06:00 (6hr) 06:30 ~ 19:30 (13hr) 19:30 ~ 24:00 (4.5hr)
6hr*25day = 150hr/M 13hr*25day = 325hr/M | 4.5hr* 25day = 112.5hr/M

7 8ton * 1tk — 3,600ton 15ton =50 — 73,125ton | 15ton * 20 — 10,125ton 93,600ton
(128~28) | 15ton* 2t — 6,750ton

=7 8ton * 1 — 3,600ton 15ton « 1Ch — 14,625ton 15ton * 1§ — 5,063ton 23,288ton
(38~58)

StA| 8ton = 1C—3 600ton 15ton * 20H—29,250ton 15ton * 14— 5,063ton 37913ton
(6&~8g)

e 8ton * 1CH—3,600ton 15ton * 1CH—14,625t0n 15ton * 1C— 5,063ton 23,288ton
(9E~108)
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= - 2 () (1/1"’8/28) iyl (k=4 £
7| 1 Ton 107,241 178,089
oL 2. | Kolor 8 8
ral-3 3, % 95 95
g 4, Kcal/kg 177 177
= o]
oy HE7| A8 5, Kcal/kg 662 662
oy | 8571 HE (05%) 6. | Kealkg 638 638
;; &57) MARHBT| AN TR | 7. Ton 112,857 187,462 | (1) +(3)%100
_(_5;0“ 57| 571 8. Ton 5616 9373 @ 0
N LIZI-OE RIS 571 9. | Keal | 994032000 | 1650021000 (8)+ (@)
2
sy 223 88 10. % 85 85
NG e 11, | Keal/Nnf 10,500 10,500
LNG Z7HI8% . N’ 111,371 185885 |  (9)+(10)=(1)
LNG £t 13, 2 417 ()
198 (42
LNG 27+ Afg| 14, | A | 37200 | 62,000 | LH=(12)+0.8*(13)
(2t ‘Aaf 4400 &t 7400 | HEH=(12)x 0.2+ (13)
7 41,600 7 69,400
M0 TR 5, | Mcal | 70993542 | 117894918 (1) *(5)
L At—g-ﬂg 16. N’ 6,761,290 11,228,087 (15) =(11)
A
g,.; A7 =7 17. Mm 0.1 0.1
Hixlo) | O S48 18, % 12 1.2 SIEtE AR
ME | ING 27t 19, N 81135 134,737 | (16)*(18) +100
Z47 Ol
=SNG £ ArgsiEze 20. | =9 LhE 27100 | L 44900 | HE=(19) * 0.8+ (13)
Lt 3,200 Wt 5,300 | Wii=(19) < 0.2+ (13)
7 30,300 7 50,200
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HEslg Al2FE o]&3ld 1 1de B b 3719 HEe RYY FeEE AAA, F
Srignsl ARt AFE B2 Asen, uel 7l By e 9Rel 47 2oE AL
T T [aemR NeE
7 =2 Hs | © 9 (1/1~8/28) A7t oAt H
B, 1| Ton 107241 178,089
goo|EF DS BE 2 | PPM 150 150
Cog | B4 DS BE Y 3,000 3,000
e=orieat 4 Ton 5,644 9373 | {0+ @2)+{(3-2)}
2xeE 5. Kg/ow 8 8
EY 5710 6. | Kglof 05 05
MYy AAg 7. Kcal/kg 177 177
N P R = 8. Keal/kg 110 110
SIZXI0| 9. Kcal/kg 67 67 7) 8
xiEy | BB B7Im 10, | Keal/kg 533 533
NEeE 11, % 13 13 9) +(10)
T 2. | Ton 734 1219]  @=01 100
NELE7| B 13, | Keal/kg 643 643
o | MEEET TR 4. | Keal | 471962000 | 783817.000 (12)+(13)
2z g2 15. % 85 85
LNG 2o 16, | Keal/N 10,500 10,500
NS B719) NG #AMZ | 17, | N 52,880 87,823 | (14) <(15) +(16)x 100
NG =7t NER 417 ()
198 (el
LNG Zzigo 19, | w9 17600 | W 29300 | WH=(17)50.8+(18)
W8 2,100 Wt 3500 | dEi=(17)+ 0.2+ (18)
7 19,700 7| 32,800
LB Sl 20, Ton 4910 8,154 (4) (12)
By 21, C 105 105
HE - ' .
HESE 2, T 40 40
ApEr| Heslast 23 | Keal | 319150000 | 530010000 | (20)+ {2122}
S48 Mo NGB | 24 | N 35,759 50385 | (23) =(15) =(16)
== T inG mzao 25 | =¥ L 11900 | LA 19,800 | LHI=(24)+ 0.8+ (18)
&5 1,400 WHE 2400 | HH=(24)+ 0.2+ (18)
7 13,300 71 22.200
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